C1/B
Surds

G) Simplify each of the following, expressing your answers in surd form:

(a) 45 ++/80 —+/125 ; 3]
(6) EI"E [4]

@ fa) Simplify the following.

6
‘“(4_8 + ‘Nfﬁ . E— [4]
(b) Simplify 247 , expressing your answer in surd form. [4]
3+47
@ Simplify 2 +V2 expressing your answer in surd form. : [4]

J5+3
® Simplify E'__l

expressing your answer in surd form. [4]

®

e 2—45
Simpli ,
plify 541
expressing your answer in surd form. [4]
6 + 7

@) simslity
oz

. expressing your answer in surd form. [4]

@

5-47

wﬁ+1'

Simplify

expressing your answer in surd form. [4]



3 11-2410

Simplity. =pe— 5 -

expressing your answer in surd form.

@ s 3+243
Simpl ,
g 5-43

writing your answer in surd form.

@ S , expressing your answer in surd form.
implity 220 enpe

—

—

@ ooty 455,

S5++3
expressing your answer in surd form.

@ 25 -42

Simplify J_ S+42

expressing your answer in surd form.

_?+3
@S li
implify 7+ 2

expressing your answer in surd form.

(CJ—"
' 2J5+2
~J5-42

expressing your answer in the fnm_n+ﬁ,wh¢manndbam‘intcgm.

implif
AS)simriity S
’ 1

expressing your answer in surd form.
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